










[bookmark: _GoBack]Table S8: Relative efficiency of (in bold)  with respect to ,, , , ,, , .
	


	0.1
	0.2
	0.3
	0.4
	0.5
	0.6
	0.7
	0.8
	0.9

	


	4.632
	3.675
	3.113
	2.742
	2.478
	2.277
	2.114
	1.970
	1.804

	5.589
	4.210
	3.465
	2.997
	2.674
	2.435
	2.248
	2.088
	1.916

	


	7.904
	6.144
	5.124
	4.467
	4.020
	3.713
	3.521
	3.464
	3.741

	9.537
	7.039
	5.703
	4.881
	4.338
	3.972
	3.743
	3.671
	3.974

	


	73.010
	57.938
	49.954
	45.745
	44.168
	45.100
	49.478
	60.885
	96.508

	88.103
	 66.381
	 55.598
	 49.986
	 47.663
	 48.241
	 52.605
	 64.522
	102.521

	


	42.036
	 38.110
	 37.327
	 38.682
	 42.167
	 48.569
	 60.135
	 83.669
	150.461

	50.726
	 43.664
	 41.544
	 42.268
	 45.503
	 51.952
	 63.936
	 88.667
	159.835
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